## OCR Maths FP1 Topic Questions from Papers Summation of Series

1 Use the standard results for  $\sum_{r=1}^{n} r$  and  $\sum_{r=1}^{n} r^2$  to show that, for all positive integers n,

$$\sum_{r=1}^{n} (6r^2 + 2r + 1) = n(2n^2 + 4n + 3).$$
 [6] (Q1, June 2005)

2 (i) Show that

$$\frac{r+1}{r+2} - \frac{r}{r+1} = \frac{1}{(r+1)(r+2)}.$$
 [2]

(ii) Hence find an expression, in terms of n, for

$$\frac{1}{6} + \frac{1}{12} + \frac{1}{20} + \dots + \frac{1}{(n+1)(n+2)}.$$
 [4]

(iii) Hence write down the value of 
$$\sum_{r=1}^{\infty} \frac{1}{(r+1)(r+2)}.$$
 [1] (Q5, June 2005)

PMT

Use the standard results for  $\sum_{r=1}^{n} r$ ,  $\sum_{r=1}^{n} r^2$  and  $\sum_{r=1}^{n} r^3$  to show that, for all positive integers n,

$$\sum_{r=1}^{n} (8r^3 - 6r^2 + 2r) = 2n^3(n+1).$$
 [6] (Q5, Jan 2006)

4 (i) Show that 
$$\frac{1}{r} - \frac{1}{r+2} = \frac{2}{r(r+2)}$$
. [2]

(ii) Hence find an expression, in terms of n, for

$$\frac{2}{1\times 3} + \frac{2}{2\times 4} + \ldots + \frac{2}{n(n+2)}.$$
 [5]

(iii) Hence find the value of

(a) 
$$\sum_{r=1}^{\infty} \frac{2}{r(r+2)}$$
, [1]

(b) 
$$\sum_{r=n+1}^{\infty} \frac{2}{r(r+2)}$$
. [2] (Q9, Jan 2006)

5 Use the standard results for  $\sum_{r=1}^{n} r^3$  and  $\sum_{r=1}^{n} r^2$  to show that, for all positive integers n,

$$\sum_{r=1}^{n} (r^3 + r^2) = \frac{1}{12} n(n+1)(n+2)(3n+1).$$
 [5] (Q4, June 2006)

**6** (i) Use the method of differences to show that

$$\sum_{r=1}^{n} \left\{ (r+1)^3 - r^3 \right\} = (n+1)^3 - 1.$$
 [2]

(ii) Show that 
$$(r+1)^3 - r^3 \equiv 3r^2 + 3r + 1$$
. [2]

(iii) Use the results in parts (i) and (ii) and the standard result for  $\sum_{r=1}^{n} r$  to show that

$$3\sum_{r=1}^{n}r^{2} = \frac{1}{2}n(n+1)(2n+1).$$
 [6] (Q9, June 2006)

7 Use the standard results for  $\sum_{r=1}^{n} r$  and  $\sum_{r=1}^{n} r^3$  to find

$$\sum_{r=1}^{n} r(r-1)(r+1),$$

expressing your answer in a fully factorised form.

(Q3, Jan 2007)

[6]

8 (i) Show that 
$$(r+2)! - (r+1)! = (r+1)^2 \times r!$$
. [3]

(ii) Hence find an expression, in terms of n, for

$$2^2 \times 1! + 3^2 \times 2! + 4^2 \times 3! + \dots + (n+1)^2 \times n!$$
 [4]

(iii) State, giving a brief reason, whether the series

$$2^2 \times 1! + 3^2 \times 2! + 4^2 \times 3! + \dots$$

converges. [1]

(Q8, Jan 2007)

**9** Use the standard results for  $\sum_{r=1}^{n} r$  and  $\sum_{r=1}^{n} r^2$  to show that, for all positive integers n,

$$\sum_{r=1}^{n} (3r^2 - 3r + 1) = n^3.$$
 [6] (Q3, June 2007)

10 (i) Show that

PMT

PMT

$$\frac{1}{r} - \frac{1}{r+1} = \frac{1}{r(r+1)}.$$
 [1]

cont on next page

(ii) Hence find an expression, in terms of n, for

$$\frac{1}{2} + \frac{1}{6} + \frac{1}{12} + \dots + \frac{1}{n(n+1)}.$$
 [3]

(iii) Hence find the value of 
$$\sum_{r=n+1}^{\infty} \frac{1}{r(r+1)}$$
. [3]

PMT

Given that 
$$\sum_{r=1}^{n} (ar^2 + b) \equiv n(2n^2 + 3n - 2)$$
, find the values of the constants  $a$  and  $b$ . [5]

PMT

12 (i) Show that 
$$\frac{2}{r} - \frac{1}{r+1} - \frac{1}{r+2} = \frac{3r+4}{r(r+1)(r+2)}$$
. [2]

(ii) Hence find an expression, in terms of n, for

$$\sum_{r=1}^{n} \frac{3r+4}{r(r+1)(r+2)}.$$
 [6]

(iii) Hence write down the value of 
$$\sum_{r=1}^{\infty} \frac{3r+4}{r(r+1)(r+2)}.$$
 [1]

(iv) Given that 
$$\sum_{r=N+1}^{\infty} \frac{3r+4}{r(r+1)(r+2)} = \frac{7}{10}$$
, find the value of  $N$ . [4]

PMT 13 (i) Show that 
$$\frac{1}{r!} - \frac{1}{(r+1)!} = \frac{r}{(r+1)!}$$
. [2]

(ii) Hence find an expression, in terms of n, for

$$\frac{1}{2!} + \frac{2}{3!} + \frac{3}{4!} + \dots + \frac{n}{(n+1)!}.$$
 [4]

(Q3, June 2008)

Find 
$$\sum_{r=1}^{n} r^2(r-1)$$
, expressing your answer in a fully factorised form. [6] (Q5, June 2008)

Find 
$$\sum_{r=1}^{n} (4r^3 + 6r^2 + 2r)$$
, expressing your answer in a fully factorised form. [6]

**16** (i) Show that  $\frac{1}{2r-3} - \frac{1}{2r+1} = \frac{4}{4r^2 - 4r - 3}$ .

[2]

(ii) Hence find an expression, in terms of n, for

$$\sum_{r=2}^{n} \frac{4}{4r^2 - 4r - 3}.$$
 [6]

РМТ

(iii) Show that  $\sum_{r=2}^{\infty} \frac{4}{4r^2 - 4r - 3} = \frac{4}{3}$ .

[1] (Q9, Jan 2009)

PMT

17 Evaluate  $\sum_{r=101}^{250} r^3$ .

[3] (Q1, June 2009)

**18** (i) Use the method of differences to show that

$$\sum_{r=1}^{n} \{ (r+1)^4 - r^4 \} = (n+1)^4 - 1.$$
 [2]

(ii) Show that  $(r+1)^4 - r^4 \equiv 4r^3 + 6r^2 + 4r + 1$ .

[2]

(iii) Hence show that

$$4\sum_{r=1}^{n}r^{3}=n^{2}(n+1)^{2}.$$
 [6] (Q7, June 2009)

PMT

- Find  $\sum_{r=1}^{n} r(r+1)(r-2)$ , expressing your answer in a fully factorised form. [6]
- 20 (i) Show that  $\frac{1}{r^2} \frac{1}{(r+1)^2} = \frac{2r+1}{r^2(r+1)^2}$ . [1]
  - (ii) Hence find an expression, in terms of n, for  $\sum_{r=1}^{n} \frac{2r+1}{r^2(r+1)^2}$ . [4]
  - (iii) Find  $\sum_{r=2}^{\infty} \frac{2r+1}{r^2(r+1)^2}$ . [2] (Q7, Jan 2010)
- Find  $\sum_{r=1}^{n} (2r-1)^2$ , expressing your answer in a fully factorised form. [6] (Q3, June 2010)

**22** (i) Show that 
$$\frac{1}{\sqrt{r+2} + \sqrt{r}} = \frac{\sqrt{r+2} - \sqrt{r}}{2}$$
.

[2]

(ii) Hence find an expression, in terms of n, for

$$\sum_{r=1}^{n} \frac{1}{\sqrt{r+2} + \sqrt{r}}.$$
 [6]

PMT

(iii) State, giving a brief reason, whether the series 
$$\sum_{r=1}^{\infty} \frac{1}{\sqrt{r+2} + \sqrt{r}}$$
 converges. [1] (Q8, June 2010)

Given that 
$$\sum_{r=1}^{n} (ar^3 + br) \equiv n(n-1)(n+1)(n+2)$$
, find the values of the constants  $a$  and  $b$ . [6]

24 (i) Show that 
$$\frac{1}{r} - \frac{2}{r+1} + \frac{1}{r+2} = \frac{2}{r(r+1)(r+2)}$$
. [2]

(ii) Hence find an expression, in terms of n, for

$$\sum_{r=1}^{n} \frac{2}{r(r+1)(r+2)}.$$
 [6]

(iii) Show that 
$$\sum_{r=n+1}^{\infty} \frac{2}{r(r+1)(r+2)} = \frac{1}{(n+1)(n+2)}.$$
 [3] (Q10, Jan 2011)

PMT

Find 
$$\sum_{r=1}^{2n} (3r^2 - \frac{1}{2})$$
, expressing your answer in a fully factorised form. [6] (Q4, June 2011)

26 (i) Show that 
$$\frac{1}{r-1} - \frac{1}{r+1} = \frac{2}{r^2-1}$$
. [1]

(ii) Hence find an expression, in terms of 
$$n$$
, for  $\sum_{r=2}^{n} \frac{2}{r^2 - 1}$ . [5]

(iii) Find the value of 
$$\sum_{r=1000}^{\infty} \frac{2}{r^2 - 1}$$
. [3] (Q7, June 2011)

Find 
$$\sum_{r=1}^{n} r(r^2 - 3)$$
, expressing your answer in a fully factorised form. [6] (Q4, Jan 2012)

- 28 (i) Show that  $\frac{r}{r+1} \frac{r-1}{r} \stackrel{\mathcal{Y}}{=} \frac{1}{r(r+1)}$ . [2]
  - (ii) Hence find an expression, in terms of n, for

$$\frac{1}{2} + \frac{1}{6} + \frac{1}{12} + \dots + \frac{1}{n(n+1)}.$$
 [4]

(iii) Hence find 
$$\sum_{r=n+1}^{\infty} \frac{1}{r(r+1)}$$
. [2] (Q8, Jan 2012)

Find 
$$\sum_{r=1}^{n} (3r^2 - 3r + 2)$$
, expressing your answer in a fully factorised form. [7] (Q4, June 2012)

31

(i) Show that  $\frac{1}{r} - \frac{1}{r+2} \equiv \frac{2}{r(r+2)}$ . [1]

(ii) Hence find an expression, in terms of 
$$n$$
, for  $\sum_{r=1}^{n} \frac{2}{r(r+2)}$ . [6]

(iii) Given that 
$$\sum_{r=N+1}^{\infty} \frac{2}{r(r+2)} = \frac{1}{30}$$
, find the value of *N*. [4]

Find 
$$\sum_{r=1}^{n} (r-1)(r+1)$$
, giving your answer in a fully factorised form. 3
2
(Q2, Jan 2013)

N/T

32 (i) Show that 
$$\frac{1}{r} - \frac{3}{r+1} + \frac{2}{r+2} = \frac{2-r}{r(r+1)(r+2)}$$
. [2]

(ii) Hence show that 
$$\sum_{r=1}^{n} \frac{2-r}{r(r+1)(r+2)} = \frac{n}{(n+1)(n+2)}.$$
 [5]

(iii) Find the value of 
$$\sum_{r=2}^{\infty} \frac{Q - 4r}{r(r+1)(r+2)}$$
. [2] (Q8, Jan 2013)

Find 
$$\sum_{r=1}^{n} (4r^3 - 3r^2 + r)$$
, giving your answer in a fully factorised form. [6] (Q5, June 2013)

